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QUESTION 1

Which three PoE power allocation methods are supported on EX Series switches? (Choose three.)
A. dynamic PoE management mode

B. static POE management mode

C. enhanced power negotiation

D. LLDP power negotiation

E. class POE management mode

Correct Answer: BDE

QUESTION 2

Which two statements about OSPF external metrics are correct? (Choose two)

A. Type 2 external metrics take the precedence when both metrics are present for a particular destination

B. Type 2 external metrics use only the external cost to the destination and ignore the cost to reach the ASBR

C. When both type 1 and type 2 external paths are available, the paths with the smallest advertise metrics are preferred

D. Type 1 external metrics equal the external cost to the external cost to the destination plus the internal cost to reach
the ASBR

Correct Answer: BD

QUESTION 3

When enabling MVRP for dynamic VLAN registration, which three timers would be configured on an interface? (Choose
three.)

A. hello-interval
B. join-timer

C. leave-timer
D. max-age

E. leaveall-timer

Correct Answer: BCE
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QUESTION 4

-- Exhibit -

{master:0}[edit]

user@switch# show protocols vstp

vlan 100;

{master:0}[edit]

user@switch# run show spanning-tree bridge

STP bridge parameters

ContextID : 1

Enabled protocol : RSTP

STP bridge parameters for VLAN 100

Root ID : 32868.50:¢5:8d:ae:94:80 Hello time : 2 seconds Maximum age : 20 seconds Forward delay : 15 seconds
Message age : 0 Number of topology changes : 0 Local parameters Bridge ID : 32868.50:¢5:8d:ae:94:80 Extended
system ID : 1 Internal instance ID : 0 {master:0}[edit] user@switch# run show spanning-tree interface
{master:0}{edit] user@switch# -- Exhibit -

Click the Exhibit button.

Based on the output shown in the exhibit, why is VSTP not working for VLAN 1007

A. No interfaces are assigned to VLAN 100.

B. Your MSTI is misconfigured.

C. RSTP is configured in addition to VSTP.

D. No native VLAN is configured.

Correct Answer: A

QUESTION 5

Which version of BGP would an enterprise use to peer with an ISP?
A. Confederation BGP

B. External BGP

C. Internal BGP

D. Labeled-Unicast

Correct Answer: C
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